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Ã ApplicationÆSoftware Engineering ÐH%Z�ì? Software Product Zzg Software Process .1

,ÐÒy�,X
ÅS:]Åz�s#�,X SRS ¾Ãë�?  Software Requirement Specification .2

fs6,â^ÉÀ�/õGX .3

Alpha Testing (i)

Unit Testing (ii)

Integration Testing (iii)

»Y,̂{BX Statement YV¹Y@*ì?Zk Meta Model Ã Spiral Model .4

Æ�zgZyÁ Coding ZEw�Cì? Coding �äÆa¾nÅ Develop Ã Project ËÌ .5

ÃæÃǵecX Coding Stardards

Ã,Ðz�s#ÙX Lower CASE Tools Zzg Upper CASE Tools Hì? CASE Tools .6

6,gzÝeZaX Reverse Softwrae Engineering Zzg  Software Re-Engineering .7

~H�Ûtì? Functional Testing Zzg Structural Testing .8

ÃVwÆfg=,Æ�BÒy�,X User Interface Design .9

Configuration ÅHZÌìZzgZkÆZ Configuration Management~ Sotware Engineering .10

H�? Management Activities
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Æa Software Life Cycle Åz�&¯�X Software Development Life Cycle ModelsZ .11

Activities ÅX Phase ÆCÙZq- Iteration Model Zzg  Fix and Build Model, Waterfall Model

Ã,ÐÒy�,X

ÅZq- Diagrams Æ£�ÃÒy�z?Zy�zâV Entity Relationship Diagrams Zzg Data Flow Diagrams .12

VwÌÒy�zX

H�D�?ZyÆZZlxÅz�s#ÙX Coupling Zzg Cohension~ Software Design .13

Æfg=��X Neat Diagram Ã Software Architectural Styles Hì?Z Software Architecture .14

Ã��X Software Maintenance Models ÐH%Z�ì?ZkÆZ  Software  Maintain (a) .15

Ãi�Æ�3�X   Maintenance Effort Total » Scenario n�b� (b)

The development effort for a software project (P) is 650 person-months . The empirically

determined constant (k) is 0.3 . The complexity of the code is quite moderate 6 . Calculate

the total effort expended (M) if

(i) If maintenance Team has good level of understanding of the project (d=0.9)

(ii) If maintenance Team has poor level of understanding of the project (d=0.1)
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